Assignment                                                   Topic:  Number sequence
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? (a) Find the first 5 terms of the following sequences
S

@) n'" term = 20 — 2n(ii) n"" term = 2n% = 3

1
(iii) n"” term = —
2n

(b) Find the 2nd, 3rd and 4th terms in each of these sequences
@ a1 =a,+6 with g, =3
(i) @,y = 3a,> =1 with a =2

(i) a,4» = a,, +a, with a; =4anda,=6

a) “ith TERM =.." MEANS WE HAVE THE
POSITION-TO-TERM RULE

i) n 12 3 4 5
a 18 16 14 12 10

THE CALCULATIONS ARE
20-2x1 USUALLY EASY SO YOU
CAN DO THEM MENTALLY

YOU MAY SPOT THIS IS A LINEAR SEQUENCE

ii) n 12 3 4 5
a -1 5 15 20 47

2x32—35V

YOU MAY SPOT THIS IS A QUADRATIC SEQUENCE

iii) n 1 2 3 4 5
a, 1/2 1/4 1/6 1/8 1/10
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